
ENVIRONMENTAL PRODUCT DECLARATION 
as per ISO 14025 and EN 15804+A2

Owner of the Declaration Franken-Schotter GmbH & Co. KG
Publisher Institut Bauen und Umwelt e.V. (IBU)
Programme holder Institut Bauen und Umwelt e.V. (IBU)
Declaration number EPD-FRS-20240183-IBD1-EN
Issue date 25.09.2024
Valid to 24.09.2029

Jura Limestone Tiles & Floor Slabs
Franken-Schotter GmbH & Co. KG

www.ibu-epd.com | https://epd-online.com



1. General Information
Franken-Schotter GmbH & Co. KG Jura Limestone Tiles & Floor Slabs
Programme holder
IBU – Institut Bauen und Umwelt e.V.
Hegelplatz 1
10117 Berlin
Germany

Owner of the declaration
Franken-Schotter GmbH & Co. KG
Hungerbachtal 1
91757 Treuchtlingen-Dietfurt
Germany 

Declaration number
EPD-FRS-20240183-IBD1-EN

Declared product / declared unit
1 t Jura Limestone Tiles & Floor Slabs

This declaration is based on the product category rules:
Dimension stone for roof, wall and floor applications, 01.08.2021 
(PCR checked and approved by the SVR)

Issue date
25.09.2024

Valid to
24.09.2029

Dipl.-Ing. Hans Peters 
(Chairman of Institut Bauen und Umwelt e.V.)

Scope:
This document covers the natural stone products consisting of Jura
Limestone tiles & floor slabs, manufactured by Franken-Schotter GmbH &
Co. KG. The life cycle assessment data were collected in 2021 across all
production sites. All production sites relevant for the declared product were
accounted for in the calculation so that the average is representative of
100% of the declared products.
The owner of the declaration shall be liable for the underlying information
and evidence; the IBU shall not be liable with respect to manufacturer
information, life cycle assessment data and evidences.

The EPD was created according to the specifications of EN 15804+A2. In
the following, the standard will be simplified as EN 15804.

Verification

The standard EN 15804 serves as the core PCR
Independent verification of the declaration and data according to ISO

14025:2011

    internally  X   externally

Florian Pronold 
(Managing Director Institut Bauen und Umwelt e.V.)

Dr. Frank Werner,
(Independent verifier)

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs1



2. Product

2.1      Product description/Product definition
The declared tiles and floor slabs are made of Jura Limestone.
This type of limestone formed in the Mesozoic about 160 million
years ago through limestone deposits in a tropical sea in the
Südliche Frankenalb region. The geological formation is called
Upper Jurassic, White Jurassic or Malm delta. 
The sedimentary rock chiefly consists of calcium carbonate
(CaCO3) with admixtures of metal oxides and colouring earths.
The deposits of the Jurassic limestone, which are also known
as Jurassic marble, are found in the Franconian Jurassic
uplands in the Eichstätt-Treuchtlingen region. Material density,
polishability, the numerous colour and structural variants, and
high abrasion resistance all serve to produce the decisive
characteristics for Jura Limestone's many applications. 
Jura Limestone is the result of unique geological formation
processes. Each stone holds a great many testimonies to the
primordial flora and fauna. It is the power of nature which
shaped this natural rock, as well as the visible geological
documentation, which give it its particular appeal and timeless
character. Material names under which the declared products
are placed on the market by Franken-Schotter are Jura
Kalkstein, Dietfurter Kalkstein, Dietfurter Kalkstein gala, and
Dietfurter Travertin. 
The declaration covers material thicknesses from 10 to 20 mm
and all surface, format, and colour variants. EU regulation no.
305/2011/ (CPR) applies for placing the product on the market
in the EU/EFTA (with the exception of Switzerland). The product
requires a declaration of performance on the basis of DIN EN
12057:2015-05 Natural stone products – Modular tiles –
Requirements and DIN EN 12058:2015-05 Natural stone
products – Slabs for floors and stairs – Requirements,
respectively, as well as the CE label. 
Usage of the product is subject to the applicable national
regulations.

2.2     Application
Jurassic limestone tiles and floor slabs are mainly used as wall,
floor and stair coverings in indoor and outdoor applications.
Beside tiles and floor slabs, natural stone is also used in living
areas such as living and bedrooms, corridors and hallways,
kitchens and bathrooms. In stairway and window sill
applications, due to their timeless character and excellent
technical properties, they see broad use as flooring or wall /
façade covering in high-grade industrial areas and public
buildings, e.g. in hotel facilities, shopping malls, and airports.

2.3      Technical Data
The product's performance values according to the declaration
of performance in relation to its main features.
Bautechnische Daten
Name Value Unit
Nominal thickness acc. to DIN EN 12326 15 mm
Flexural strength acc. to DIN EN 12372 13.5 N/mm²
Bulk density 1570 kg/m³
Abrasion acc. to DIN EN 14157 (OEW) 16 cm³/50cm²
Fire behaviour, no testing (see 96/603/EC) Class A1
The following technical data for tiles, floor slabs, and stair
coverings made of Jura Limestone must be indicated:
performance values of the product as per the declaration of
performance with regard to its main features acc. to DIN EN
12057:2015-05 Natural stone products – Modular tiles –
Requirements and DIN EN 12058:2015-05 Natural stone
products – Slabs for floors and stairs – Requirements.

2.4      Delivery status
Jura Limestone tiles and floor slabs are produced in a number
of different formats, thicknesses, colours, and finishes and
delivered in customisable packing units (packaged or palletised
delivery), depending on application and requirements. 
The following formats are available by default: 

• Thickness 10 mm: 30.5 x 30.5 cm; 30.5 x 61 cm; 40.6 x
40.6 cm; 45.7 x 45.7 cm, and 61 x 61cm

• Thickness 15 mm: 30 x 30 cm; 30 x 60 cm; 40 x 40 cm;
50 x 50 cm, and 60 x 60 cm

• Thickness 20 mm: 30 x 30 cm; 30 x 60 cm; 40 x 40 cm;
50 x 50 cm, and 60 x 60 cm 

Any number of custom formats are possible with regard to
thickness and size.
Jura Limestone tiles and floorings are available with the
following colours and finishes: 

• Colours: beige, grey, creamy white, yellow-grey mottled,
yellow-banded

• Finishes: ground, polished, Sarena, Toscana, Venezia,
Piemont, Bordeaux, Castellina; further finishes on
request

2.5     Base materials/Ancillary materials
Jura Limestone is a type of natural sedimentary rock which
mainly consists of calcium carbonate CaCO3 with metal and
colouring earth admixtures. The percentage of calcium
carbonate is typically > 97 mass %, with dolomite, iron oxide,
and silicon oxide adding significantly, too. The percentage of
epoxy-based stone putty in the finished product (see section
2.6 - Manufacture) is < 0.1 mass % on average. 
The product/at least one partial product contains materials
included in the ECHA list of candidate substances of very high
concern (SVHC) at a mass % of more than 0.1: no 
The product/at least one partial product contains further CMR
Category 1A or 1B substances which are not in the candidate
list in doses above 0.1 mass % in at least one partial product:
no

The construction product in question has biocides added or
was treated with biocidal products (making it a treated good in
the meaning of the Biocidal Products Regulation (EU) No
528/2012): no

2.6      Manufacture
As a type of natural sedimentary rock, Jura Limestone is
surface-mined using rock cutters or drilling rigs with cleaving
cylinders. The raw blocks so obtained are sent to the factory,
sorted according to type and colour, for further processing.
Using large circular saws with diamond-studded saw blades
and circular water as coolant, the raw blocks are cut into slices
and bars which serve as starting format for the largely
automated tile production process. Here, lengths with the
desired product thickness are cut by diamond saws and then
calibrated to exact thicknesses. 
In the next step, the lengths are dried, and any pores and holes
are filled with stone putty. Afterwards, the required finish is
produced by the through-feed method. The downstream
formatting step is performed by diamond circular saws. After the
tiles and floor slabs have been inspected for quality, they are
bundled into packs, and packaged on pallets.

2.7     Environment and health during manufacturing

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs2



Due to the manufacturing conditions, no environmental and
occupational health protection measures are required beyond
the provisions of applicable EU regulation and national,
statutory and other provisions. This includes compliance with
the rules of the professional associations and compliance or
undercutting below the maximum allowable concentrations
(MAC) in the manufacturing process. 

• Air: Any dust generated is collected by filter systems.
Emissions are significantly below the threshold values
specified in TA Luft.

• Water/soil: All water produced during manufacture is
treated in on-premise waste water treatment facilities
and fed back into the production process.

• Noise: Noise emissions of the production plants into the
environment are below the admissible threshold values
specified in TA Lärm

Environmental management: An environmental management
system acc. to EMAS is in place for all sites.

2.8      Product processing/Installation
As a rule, the tiles and floor slabs come ready to install. The
products should be stored in dry conditions. Processing on
location at construction sites is principally possible. The usual
safety precautions (e.g., hearing protection, goggles, and
filtering facepiece for sawing jobs) must be complied with. The
saw dust produced should be extracted. The regulations of the
professional associations must be observed for industrial
processing. Required tools and machinery must always be
used as intended and as specified in the operating instructions
of the respective manufacturer. 
The tiles and floor slabs are either glued using the thin-bed
method or installed on thick-bed mortar. A joint seal is applied
in-between tiles. Additional auxiliary materials are not used. 
The manufacturer's instructions must be observed during
installation.
All residues left at the construction site (clippings, packaging
material) must be separately collected according to waste
fractions. For disposal, the regulations of the local disposal
authorities and the guidance under section 2.14 and 2.15 must
be complied with.

2.9     Packaging
The products are bundled using PET packing tape, stacked on
wooden pallets according to format, and secured with PET
packing tape. Weather protection is ensured by recyclable
polyethylene film. Packaging materials are to be separately
collected and recycled in accordance with local and statutory
requirements. When EUR pallets are used, these may be
reused many times or recycled as wood waste before a
possible thermal utilisation cycle.

2.10     Condition of use
The composition for the period of use complies with the base
material composition in accordance with section 2.5
'Base/Auxiliary materials'.

2.11     Environment and health during use
There are no adverse health or environmental effects during
use.

2.12      Reference service life
The service life may exceed 50 years, according to the DNV
Nachhaltigkeitsstudie and years of operational experience. The
reference service life is not declared according to standards.
When used as intended and in line with the codes of practice,
ageing will not be impacted.
Description of the influences on the ageing of the product when
applied in accordance with the rules of technology.

2.13      Extraordinary effects
Fire
Jura Limestone tiles and floor slabs are not flammable. No toxic
gases and vapours which obstruct sight can form in case of fire.
Fire protection: construction material category A1 – not
flammable (no testing, see 96/603/EC) 
Water
When exposed to water, no constituents will be washed out
which may be hazardous to water or the environment. The
flooring is not resistant to long-term exposure to water, due to
possible discolouration and bloom defects caused by the
installation mortar. 

Mechanical destruction 
There will be no risks to the environment when mechanically
damaged or destroyed.

2.14     Re-use phase
Depending on the volume and material, tiles and slabs
retrieved from properly dismantled structures can be reused in
line with their original intended purpose. 
They can be reused as filler in civil engineering, especially in
road construction.

2.15     Disposal
Unless materially recycled or reused, the products can be sent
to landfills of the landfill category DK-0, waste code 170103.

2.16      Further information
Additional information is available online at: www.franken-
schotter.com

3. LCA: Calculation rules

3.1     Declared Unit
The declaration covers the manufacture of 1 tonne of natural
stone tiles with an average thickness of 15 mm. See the table
for conversion factors.
Deklarierte Einheit
Name Value Unit
Declared unit 1 t
Bulk density 2570 kg/m³
Conversion factor to 1 kg 0.001 kg/m²
1 tonne is equivalent to 25.64 m² of the 15 mm slab.

Other declared units are allowed if the conversion is shown
transparently.

For IBU core EPDs (where clause 3.6 is part of the EPD): for
average EPDs, an estimate of the robustness of the LCA
values must be made, e.g. concerning the variability of the
production process, geographical representativeness and the
influence of background data and preliminary products
compared to the environmental impacts caused by the actual
production.

3.2     System boundary
EPD type: cradle-to-gate - with options: modules A1–A3, C1–
C4 + D. EPD system boundaries follow the modular approach
as per EN 15804. A brief description of the declared modules
can be found below.
Modules A1–A3 cover the manufacturing phase, from extraction
through processing to the finishing of the natural rock. Internal

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs3



transports between production sites were also accounted for.
The individual process steps (sawing, grinding, polishing,
formatting, edge working, etc) are specific to tiles with an
average thickness of 15 mm. Franken-Schotter uses certified
green energy in the form of 100% hydro energy from Norway
(certificate, N-ergie stock corporation). 
Module C1: dismantling of the rock for further utilisation for
disposal or reuse. 
Module C2: removal for waste management. Rock material not
needed for manufacturing is shipped off for further processing. 
Module C3: waste management for reutilisation, recovery,
and/or recycling: crushing (demolition of the rock products) of
the rock products removed from construction site. Debits
introduced by crushing of the rock products and disposal at
construction waste landfills are documented here. 
Module C4: this module covers waste disposal; no debits are
declared here. 
Module D: this module describes the potential for reutilisation,
recovery, or recycling as net flows and credits or debits:
following successful waste treatment (C3), recycled façade and
wall slabs can serve as grit or gravel as substitute for primary
materials to substitute the production and utilisation of primary
material with another product system (D).

3.3     Estimates and assumptions
All site-specific data was documented by Franken Schotter and
given to the life cycle assessor. Missing data were substituted
by estimates based on comparable substitutes or data taken
from the secondary literature and verified LCIA databases
(ecoinvent 3.9). These include oil and grease as auxiliary
materials, which were modelled as lubricants due to their
common chemical basis.
The influence on the life cycle assessment results is marginal
and hence negligible. Data sets missing from the database
were modelled by the LC assessor. Due to the lack of primary
data and inventories, the extraction and provision of the
company's own material was modelled using a generic data
set.

3.4      Cut-off criteria
All relevant data, i.e. all starting materials used in the
production and energy sources were gleaned from an operating
data record for the life cycle inventory analysis. The actual
transport distances were used or estimated applying
documented rules for the inputs and outputs included. Material
and energy flows with a portion of <1% were included. The
aggregate of the excluded processes is below 5% of the effect

categories. Expenditures for the provision of infrastructure
(machinery, buildings, etc.) from the entire foreground system
were not included. The packaging of the precursors and
finished product are not included.

3.5     Background data
Data sets are available in the ecoinvent database for the base
materials used, the provision of energy, and all other
background data (e.g., waste treatment, transport processes).
All background data relevant for the life cycle assessment
model were taken from the ecoinvent 3.9 database.

3.6     Data quality
Background data records are based on the ecoinvent 3.9
database. Any missing specific data for precursor products
were modelled using generic ecoinvent 3.9 datasets, taking
account of country-specific conditions. The share of primary
data in the foreground system is low due to the low vertical
range of manufacture. The technological, geographic and
temporal representativeness were subjected to a quality
assessment. The data quality can be regarded as being good.

3.7     Period under review
The quantities of raw materials and energies used as well as
the volumes of waste apply to the year 2021. Being state of the
art, they are representative of the period under consideration.

3.8     Geographic Representativeness
Land or region, in which the declared product system is
manufactured, used or handled at the end of the product´s
lifespan: Germany

3.9     Allocation
Beside the declared product, the overall output of Franken-
Schotter GmbH & Co KG includes other products. During data
gathering, the declared products were set apart from these
other products so that no specific allocation was integrated into
the applied software model. The software model used does not
provide for any co-product allocations.

3.10     Comparability
Basically, a comparison or an evaluation of EPD data is only
possible if all the data sets to be compared were created
according to EN 15804 and the building context, respectively
the product-specific characteristics of performance, are taken
into account. ecoinvent 3.9 was used as background database.

4. LCA: Scenarios and additional technical information

Characteristic product properties of biogenic carbon
The share of biogenic carbon in the product is less than 5% of
the product's total mass so that it was not included in this EPD.
Moreover, any carbon stored in the product packaging is
classified as irrelevant because the packaging was not
assessed. The following technical information is used as basis
for the declared modules or can be used to derive specific
scenarios under a building assessment. 
Note: 1 kg of biogenic carbon is equivalent to 44/12 kg of CO2.

The reference service life (RSL) could not be determined as per
EN 15804 (Chap. 6.3.3) in due consideration of ISO 15686-1.
The service life may exceed 50 years, in many cases even 100

years, according to the DNV Nachhaltigkeitsstudie and years of
experience. The reference service life is not declared according
to standards. When used as intended and in line with the codes
of practice, ageing will not be impacted. The service life as per
the BBSR 2017 table (code 335.141) is > 50 years. This figure
must be explicitly dissociated from an RSL acc. to ISO 15686.
Ende des Lebenswegs (C1-C4)
Name Value Unit
Recycling 950 kg
Landfilling 50 kg
This scenario contains a recycling quota of 95%.
Module D: Both the rock products and the rubble produced in
the form of processing wastage can be used as substitutes for
gravel or grit in other product systems.

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs4



5. LCA: Results
The following table shows the LIFE CYCLE ASSESSMENT RESULTS for 1 tonne of tiles and floor slabs in relation to the declared life
cycle stages. 1 tonne corresponds to 25,64 m² of slabs with an average thickness of 15mm. The following table summarises the LCA
results. The impact assessment results do not allow any conclusion as to the endpoints of the effect categories, exceedance of
threshold values, safety margins, or risks. Long-term emissions (> 100 years) are not included in the impact assessment. The impact
assessment uses the evaluation method according to EF3.1.
DESCRIPTION OF THE SYSTEM BOUNDARY (X = INCLUDED IN LCA; MND = MODULE OR INDICATOR NOT DECLARED; MNR
= MODULE NOT RELEVANT)

Product stage Construction
process stage Use stage End of life stage

Benefits and
loads beyond
the system
boundaries

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
X X X MND MND MND MND MNR MNR MNR MND MND X X X X X

RESULTS OF THE LCA - ENVIRONMENTAL IMPACT according to EN 15804+A2: 1 t Fliesen & Bodenplatten aus Jurakalkstein
Parameter Unit A1-A3 C1 C2 C3 C4 D

RESULTS OF THE LCA - INDICATORS TO DESCRIBE RESOURCE USE according to EN 15804+A2: 1 t Fliesen & Bodenplatten
aus Jurakalkstein
Parameter Unit A1-A3 C1 C2 C3 C4 D

RESULTS OF THE LCA – WASTE CATEGORIES AND OUTPUT FLOWS according to EN 15804+A2:
1 t Fliesen & Bodenplatten aus Jurakalkstein
Parameter Unit A1-A3 C1 C2 C3 C4 D

RESULTS OF THE LCA – additional impact categories according to EN 15804+A2-optional:
1 t Fliesen & Bodenplatten aus Jurakalkstein
Parameter Unit A1-A3 C1 C2 C3 C4 D

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs

R
aw

 m
at

er
ia

l
su

pp
ly

Tr
an

sp
or

t

M
an

uf
ac

tu
rin

g

Tr
an

sp
or

t f
ro

m
 th

e
ga

te
 to

 th
e 

si
te

As
se

m
bl

y

U
se

M
ai

nt
en

an
ce

R
ep

ai
r

R
ep

la
ce

m
en

t

R
ef

ur
bi

sh
m

en
t

O
pe

ra
tio

na
l e

ne
rg

y
us

e

O
pe

ra
tio

na
l w

at
er

us
e

D
e-

co
ns

tru
ct

io
n

de
m

ol
iti

on

Tr
an

sp
or

t

W
as

te
 p

ro
ce

ss
in

g

D
is

po
sa

l

R
eu

se
-

R
ec

ov
er

y-
R

ec
yc

lin
g-

po
te

nt
ia

l

Global Warming Potential total (GWP-total) kg CO2 eq 8E+01 2.83E-01 6.31E+00 4.06E-01 0 -1.1E+01

Global Warming Potential fossil fuels (GWP-fossil) kg CO2 eq 7.75E+01 2.83E-01 6.31E+00 4.03E-01 0 -1.1E+01

Global Warming Potential biogenic (GWP-biogenic) kg CO2 eq 2.17E+00 4.56E-05 2.22E-03 1.59E-03 0 -1.28E-02

Global Warming Potential luluc (GWP-luluc) kg CO2 eq 3.22E-01 2.81E-05 2.27E-03 6.47E-04 0 -3.87E-02
Depletion potential of the stratospheric ozone layer (ODP) kg CFC11 eq 6.19E-06 6.01E-08 1.51E-06 4.13E-08 0 -1.76E-06
Acidification potential of land and water (AP) mol H+ eq 3.25E-01 1.02E-03 2.63E-02 2.78E-03 0 -8.05E-02
Eutrophication potential aquatic freshwater (EP-freshwater) kg P eq 2.37E-02 8.71E-06 3.93E-04 2.72E-04 0 -1.99E-03
Eutrophication potential aquatic marine (EP-marine) kg N eq 8.7E-02 3.43E-04 8.03E-03 8.33E-04 0 -2.49E-02
Eutrophication potential terrestrial (EP-terrestrial) mol N eq 9.42E-01 3.76E-03 8.78E-02 8.57E-03 0 -2.75E-01
Formation potential of tropospheric ozone photochemical oxidants
(POCP)

kg NMVOC
eq 2.63E-01 1.16E-03 2.83E-02 2.39E-03 0 -7.8E-02

Abiotic depletion potential for non fossil resources (ADPE) kg Sb eq 8.05E+01 1.45E-07 1.45E-05 8.26E-07 0 -7.55E-05
Abiotic depletion potential for fossil resources (ADPF) MJ 1.24E+03 3.86E+00 9.83E+01 7.53E+00 0 -1.51E+02

Water use (WDP) m3 world eq
deprived 5.83E+01 6.04E-03 3.38E-01 6.72E-02 0 -5.77E+01

Renewable primary energy as energy carrier (PERE) MJ 9.41E+03 2.17E-02 1.25E+00 1.06E+00 0 -5.65E+00
Renewable primary energy resources as material utilization
(PERM) MJ 0 0 0 0 0 0

Total use of renewable primary energy resources (PERT) MJ 9.41E+03 2.17E-02 1.25E+00 1.06E+00 0 -5.65E+00
Non renewable primary energy as energy carrier (PENRE) MJ 1.24E+03 3.86E+00 9.83E+01 7.53E+00 0 -1.51E+02
Non renewable primary energy as material utilization (PENRM) MJ 0 0 0 0 0 0
Total use of non renewable primary energy resources (PENRT) MJ 1.24E+03 3.86E+00 9.83E+01 7.53E+00 0 -1.51E+02
Use of secondary material (SM) kg 0 0 0 0 0 9.5E+02
Use of renewable secondary fuels (RSF) MJ 0 0 0 0 0 0
Use of non renewable secondary fuels (NRSF) MJ 0 0 0 0 0 0
Use of net fresh water (FW) m3 8.6E+01 2.2E-04 1.17E-02 4.96E-03 0 -1.36E+00

Hazardous waste disposed (HWD) kg 1.54E-03 1.06E-05 2.38E-04 7.74E-06 0 -7.75E-04
Non hazardous waste disposed (NHWD) kg 9E+01 5.25E-03 9.2E+00 5E+01 0 -5.83E+00
Radioactive waste disposed (RWD) kg 1.17E-02 2.66E-05 6.66E-04 5.39E-05 0 -8.69E-04
Components for re-use (CRU) kg 0 0 0 0 0 0
Materials for recycling (MFR) kg 0 0 0 9.5E+02 0 0
Materials for energy recovery (MER) kg 0 0 0 0 0 0
Exported electrical energy (EEE) MJ 0 0 0 0 0 0
Exported thermal energy (EET) MJ 0 0 0 0 0 0

5



Qualifier 1 – applies to the indicator 'potential effect through human exposition to U235'. 
This effect category mainly covers the potential impact of low-dosage ionising radiation on human health in the nuclear fuel cycle. It
does not account for effects caused by possible nuclear accidents and occupational exposure nor for the disposal of radioactive waste
in subterranean installations. This indicator also does not cover the potential ionising radiation emitted by the ground, radon, and
certain construction materials. 
Qualifier 2 – applies to the indicators: 'abiotic resource depletion potential – non-fossil resources', 'abiotic resource depletion potential –
fossil fuels', 'water deprivation potential (user)', 'potential toxicity reference unit for ecosystems', 'potential toxicity reference unit for
humans – carcinogenic effect', 'potential toxicity reference unit for humans – non-carcinogenic effect', and 'potential soil quality index'. 
Diligence must be applied when using the results of the environmental impact indicator because they are fraught with high
uncertainties or experience with the indicator is limited.

6. LCA: Interpretation
The following figure reflects the relevant contributions of
different life cycle processes as a dominance analysis. 

The effect categories along the life cycle are dominated by the
production phase (A3). The utilisation of various sources of
energy used during manufacture to finish the raw blocks from
the quarry into polished, finished natural rock products is the
main driver. In comparison with the phase of manufacture,
environmental effects contributed by the provision of raw
material (A1) and transport (A2) of the precursor products
throughout the production stage are less prominent. 
The product can be materially recycled across its life cycle to
produce secondary material for use in a downstream product
system. The present life cycle assessment assumes the
substitution of the extraction of gravel, potentially avoiding
environmental effects in module D (-11 kg CO2e). 
As for the greenhouse potential (GWP), about 85% of the
environmental effects are produced in the manufacturing phase
during production (A1–A3), followed by transport emissions
(15%). The provision of raw materials contributes very little to
the overall emissions (< 1%). 
The ozone depletion potential (ODP) is dominated by
manufacture (56%). Transport account for almost 44% and
provision of raw materials account for approx. 1% of the overall
emissions produced during the manufacturing phase.

The acidification potential (AP) throughout the production stage
is dominated by the manufacturing phase with 85%. The
environmental effects resulting from the transport of precursor
products contribute 15%. The provision of raw materials
contributes very little to the overall emissions (< 1%). The
eutrophication potential (EP) (marine, terrestrial, freshwater) is
dominated by the manufacturing phase with 97% (EP-
freshwater). EP-marine contributes 83% and EP-terrestrial
contributes 83%, making them dominant factors during
manufacture. Transports are the second largest EP contributor:
3% for EP-freshwater, 16% for EP-marine, and 17% for EP-
terrestrial. The effect of the provision of raw materials is less
dominant: < 1%.

Emissions produced in the manufacturing phase account for
approx. 82% of the photochemical oxidation potential (POCP).
Transport of the precursor products contribute about 18% of
emissions, with the effect of the provision of raw materials
being marginal (< 1%). 
Manufacture accounts for two third (86%) of the abiotic
resource depletion (ADP elementary), while the remaining third
(14%) is due to transport. The contribution of the precursor

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs

Incidence of disease due to PM emissions (PM) Disease
incidence 5.65E-06 2.04E-08 7.42E-07 4.09E-08 0 -1.24E-06

Human exposure efficiency relative to U235 (IR) kBq U235 eq 4.44E+01 1.74E-02 4.97E-01 1.63E-01 0 -8.83E-01
Comparative toxic unit for ecosystems (ETP-fw) CTUe 1.39E+03 2.26E+00 7.68E+01 4.39E+00 0 -1.73E+02
Comparative toxic unit for humans (carcinogenic) (HTP-c) CTUh 1.09E-07 2.4E-10 2.12E-09 2.87E-10 0 -8.89E-09
Comparative toxic unit for humans (noncarcinogenic) (HTP-nc) CTUh 1.33E-06 1.36E-09 8.4E-08 5.49E-09 0 -1.74E-07
Soil quality index (SQP) SQP 2.04E+03 4.99E-01 1.13E+02 3.26E+00 0 -1.76E+02

6



products to ADP elementary is marginal (< 1%). Abiotic
resource depletion (ADP fossil) throughout manufacture (A1–
A3) is largely dominated by emissions produced in the

manufacturing process (86%). Transport contributes 14% to the
figure of ADP fossil. The influence of the provision of raw
materials on overall emissions is low (< 1%).

7. Requisite evidence
According to radioactivity tests (gamma-spectroscopy) by LGA
Nürnberg, Measurement Report M 5921 104 B, Jurassic
limestone yellow, the radiation concentration measured for Ra-
226 is < 5.5 Bq/kg, for Th-232 < 2.1 Bq/kg, and for K-40 15
Bq/kg. Messbericht M 5921 104 B: Untersuchung auf

Radioaktivität (Gammaspektrometrische Messung, Jura
Kalkstein gelb, TÜV Rheinland LGA Bautechnik GmbH, Bereich
Produkte, Strahlenschutz und Strahlenphysik, Tillystraße 2
90431 Nürnberg, 2002.

8. References
DIN EN 12326 
DIN EN 12326-1: 2014-11: Slate and stone for discontinuous
roofing and external cladding – Part 1: Specifications for slate
and carbonate slate.

DIN EN 1469 
DIN EN 1469: 2015-05: Natural stone products – Slabs for
cladding – Requirements.

DIN EN 14321 
DIN EN 14321-1: 2005-09: Glas im Bauwesen – Thermisch
vorgespanntes Erdalkali-Silicat-Einscheibensicherheitsglas –
Teil 1: Definition und Beschreibung; German version EN14321-
1:2005.

DIN EN 12371 
DIN EN 12371: 2010-07: Prüfverfahren für Naturstein –
Bestimmung des Frostwiderstandes; German version
EN12371:2010.

DIN EN 12372 
DIN EN 12372: 2022-05: Prüfverfahren für Naturstein –
Bestimmung der Biegefestigkeit unter Mittellinienlast; German
version EN 12372:2022.

DIN EN 13755 
DIN EN 13755: 2008-08: Prüfverfahren für Naturstein –
Bestimmung der Wasseraufnahme unter atmosphärischem
Druck; German version EN 13755:2008.

DIN EN 14157 
DIN EN 14157: 2017-12: Prüfverfahren für Naturstein –
Bestimmung des Widerstandes gegen Verschleiß; German
version EN 14157:2017.

Further reading

DIN EN 14066 
DIN EN 14066: 2013-06: Prüfverfahren für Naturstein –
Bestimmung des Widerstandes gegen Alterung durch
Wärmeschock; German version EN 14066:2013.

ISO 14025 
DIN EN ISO 14025:2011-10: Environmental labels and
declarations – Type III environmental declarations – Principles
and procedures.

ISO 14040 
DIN EN ISO 14040:2021-02: Environmental management – Life
cycle assessment – Principles and framework (ISO 14040:2006
+ Amd1:2020).

ISO 14044 
DIN EN ISO 14044: 2021-02: Environmental management –
Life cycle assessment – Requirements and guidelines (ISO

14044:2006 + Amd1:2017+ Amd 2:2020).

EN 15804 
DIN EN 15804:2022-03: Sustainability of construction works –
Environmental product declarations – Fundamental rules for the
product category construction products.

ISO 14001 
DIN EN ISO 14001:2015-11, Environmental management
systems – Requirements with guidance for use
(ISO14001:2015).

ISO 15686 
DIN EN ISO 15686-1:2011-05: Buildings and constructed
assets – Service life planning – Part 1: General principles and
framework.

EMAS Verified Environmental Management

AVV Ordinance on the European Waste Catalogue (Waste
Catalogue Ordinance – AVV, Abfallverzeichnis-Verordnung),
construction and demolition waste (including dredge spoil from
contaminated sites).

BBSR 2017 
Bundesinstitut für Bau-, Stadt- und Raumforschung (BBSR):
Nutzungsdauern von Bauteilen für Lebenszyklusanalysen nach
Bewertungssystem Nachhaltiges Bauen (BNB), in:
Bundesministerium für Umwelt, Naturschutz, Bau und
Reaktorsicherheit (ed.), 2017.

CPR 
Regulation (EU) No. 305/2011 of the European Parliament and
Council of 9th March 2011 laying down harmonised conditions
for the marketing of construction products and repealing
Council Directive 89/106/EEC of the Council (EUBauPVO), in:
Official Journal of the European Union L88/5, April 2011.

DNV-Nachhaltigkeitsstudie
Deutscher Naturwerkstein-Verband e.V. (DNV)(2021):
Nachhaltigkeitsstudienreihe für Bodenbeläge im Außen-
/Innenbereich und von Fassadenkonstruktionen mit Naturstein-
und Glas. 

ecoinvent 3.9 
ecoinvent V 3.9 (2022): Ökoinventar Datenbank Version 3.9 of
Schweizerisches Zentrum für Ökoinventare, Dübendorf.
www.ecoinvent.ch.

EMAS (2023)
of the European Union. https://www.emas.de.

IBU 2022 Institut Bauen und Umwelt e.V. (ed.): Die Erstellung
von Umweltproduktdeklarationen (EPD). General EPD –

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs7

https://www.emas.de


programme instructions of the Institut Bauen und Umwelt e.V.
(IBU), version 2.1, 2022.

Candidate list 
European Chemical Agency (ECHA): Candidate
Listofsubstances of very high concern for
Authorisation,in:https://echa.europa.eu/candidate-list-table,
2020.

PCR Part A 
Institut Bauen und Umwelt e.V. (ed.): Produktkategorie Regeln
für gebäudebezogene Produkte und Dienstleistungen. Part A:

Rechenregeln für die Ökobilanz und Anforderungen an den
Projektbericht, version 1.3, 2022.

PCR Part B Umwelt-Produktdeklaration - Franken-Schotter
GmbH & Co. KG - Fassaden- und Wandplatten aus
Jurakalkstein PCR: Naturwerkstein für Dach-, Wand- und
Bodenanwendungen Institut Bauen und Umwelt e.V. (ed.):
PCR-Anleitungstexte für gebäudebezogene Produkte und
Dienstleistungen. Part B:Anforderungen an die EPD für
Naturwerkstein für Dach-, Wand und Bodenanwendungen,
version v10 of 30 April 2024.

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs8



Publisher

Institut Bauen und Umwelt e.V. 
Hegelplatz 1 
10117 Berlin 
Germany

+49 (0)30 3087748- 0 
info@ibu-epd.com 
www.ibu-epd.com

Programme holder

Institut Bauen und Umwelt e.V. 
Hegelplatz 1 
10117 Berlin 
Germany

+49 (0)30 3087748- 0 
info@ibu-epd.com 
www.ibu-epd.com

Author of the Life Cycle Assessment

myclimate Deutschland gGmbH
Kurrerstr.  40/3
72762 Reutlingen
Germany

+49 7121 9223 50
kontakt@myclimate.de
www.myclimate.de

Owner of the Declaration
Franken-Schotter GmbH & Co. KG
Hungerbachtal 1
91757 Treuchtlingen-Dietfurt
Germany

+49-9142-802-0
info@franken-schotter.de
www.franken-schotter.com

Environmental Product Declaration  - Franken-Schotter GmbH & Co. KG  - Jura Limestone Tiles & Floor Slabs9


